Développement - Correction

Développer et réduire les expressions suivantes :

A=5zx—2(z—-1) E=-43-5x)(2+x)

A=5x—2x+2 E = —4(6 + 3z — 10z — 5z?%)

E = —i(-5a T )

| E = 202” + 282 — 24]

B=dx— (v +3)
B=4dz—xz—3 F=4-2(z-3)(1-=z)
F=4-2(x—2*—3+3z)
F=4-2(—2%+4z - 3)

C=(x—3)(Tr—1) F=4+222—-8x+6

C=T7>—2—-21z+3 F=222—-8z+10

C=722-222x+3

G=(x-1)Bz-2)(2—-2x)

D=4-2-2)5+x) G= (32> -2z - 32 +2)(2— 1)
D =4— (10 + 22 — 5z — %) G = (32 — 5z +2)(2 — 2)
D=4-10 -2z + 5z 4 22 G =62 —32° — 10z + 52% + 4 — 22

D=2>+32-6 G=-32+112> - 122+ 4




